6t Grade (Procedural) Unit 2, Quiz #2 Name ’L |

Answer completely and show all work

1.

Graph and label each point.
a. A(3,-2) b. B(- 3.5,4) _ 'y

wn

YU‘A_

c.C(-1,0) d. D(6,4)

Name the quadrants for
JE——

point A !’//k and point B. _(/]’

U

Write the ordered pair for each labeled point.

W

L (3.9 oy (44) "

N_(1-3) p  (-§,-2)

a. Reflect L over the x-axis and label it I'. | Pu ot

b. Reflect N over the y-axis and label it N’,

(9]

Find the distance between:
a. R(2,-5) and S(4,-5). 2

b. T(1,7) and Q(1,-5). /9

Find the indicated product or quotient.

a. 32+ (-8) LI‘ b. 48+ (-6) x 3+ (-4)
//— /‘(‘7\2 ':’-‘-t = ’ZL{ lH’;

c. -14x (=3)+ 2 d%ﬁf
H2:2 = 2| [ Z-
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6th Grade (Conceptual) Unit 2, Quiz #2 Name /< {)‘//

Answer completely and show all of your work.

The United States Marines are headed out on another i fA\
dangerous mission. They are in enemy territory, and
have to navigate across a plot of land 10 yards long
by 14 yards wide. They were able to overlay a grid
on the land by GPS images. The coordinate grid to
the right is now what they have to work with.

1. Help the troops by identifying where the land b

A

mines are located, so that they can avoid
stepping on them.

a.

i

The first land mine is located at position (3,4). Label this point 4 and explain
how you located it.

M()Wﬂ[ three ynds .r')j%\’ and fouronits vf '7['(0”\'17\@ Mﬁi,.q

The next land mine is located precisely at the reflection of point A over the y-axis.

Label this point B.

Start from the point (—5,2), and go to (1, —1). Continue in this same distance
and direction to find the third land mine. Label this point C. Which quadrant is

point Cin? (71 - LD & o E

What is the total distance horizontally, you traveled in finding point C in part c?
How many units did you move vertically? Do you think you traveled more, less,
or the same amount as the sum the two distances you found?

12 W,'}: bof'?’f‘h”‘j | € vnks s lesethen achrelly
b ovarts »\,‘Qc'f\tc,(lj Al,aﬂm&( Ridboid |
For the last land mine, intelligence had to translate some encrypted clues.

Starting from the point (=6, 2), they figured out that they would have to multiply

the y-coordinate by - 2 and divide the x-coordinate by 3. Label this point on the
graph, D T (-6,2) - (3+0), -3(2) = (-2,-3)

In what quadrant would the reflection of point D over the x-axis be? _I,:

2. If a — b is negative, what can you conclude (if anything) about b — a? Explain your
OASONNE T s pusidive. T a-h is acgufive flan L> A, S0

b-a woold heve o be pof{‘}l'ﬂ

3. During a 5-minute landing, an airplane decreased in elevation by 3265 feet.
Determine the mean elevation change per minute.
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